
 

®    

    

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

04/17
   ®

 

 

 

*  Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – FLOORBOARD ASSEMBLY, LEFT 

1 – FLOORBOARD ASSEMBLY, RIGHT 

1 – WASHER, FLAT M10 

1 – BOLT, M10X45mm 

Application(s) > 

Honda Aero 750    04-16 

Spirit 750 C2     07-14 

Phantom 750     10-19 

Instruction Manual > 

Your Floorboards will install in just a few minutes using common tools.  Read all instructions carefully 
and completely before installation 

1. Remove the M10 bolt from the shift lever on the left footpeg mount.  Remove the two M10 bolts from 
the footpeg mount at the frame and remove the footpeg assembly.  Set the bolts aside. 

2. Install the left Cobra floorboard assembly to the frame with the M10 bolts set aside from step 1.  
Reinstall the shift lever with the supplied M10x45mm bolt and place the supplied flat washer 
between the shift lever and mount (see figure 1) and tighten. 

3. Remove the two M10 bolts from the right side footpeg assembly at the frame and set the bolts aside. 

4. Install the right side Cobra floorboard assembly with the two M10 bolts set aside from step 3. 

5. Tighten all bolts to factory torque specifications. 

 

 06-1618 / 06-4118 Page 1 of 1 

 

DOCUMENT NO.  0017 REV. B
 

 

FIGURE 1 

SUPPLIED M10 WASHER 

GEAR SHIFT LEVER 
COBRA 
FLOORBOARD 

SUPPLIED 
M10 BOLT 


